

Kalapet, Pondicherry

Home



Result Announced Date: 18/03/2025

Results

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0001

Name of the Student : ABHINAYA B

Father Name: BOOPATHY Mother Name: AMIRTHAVALLI

1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	5.00	15.00	С	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0002

Name of the Student : ABISHEK KUMAR G

Father Name: GANESAN **Mother Name: MALATHY**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	6.00	18.00	В
2	OPERATING SYSTEMS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Home



Results



Kalapet, Pondicherry

Home



Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0005

Name of the Student : ARUN KARTHIK M

Father Name: MURUGESAN Mother Name: KANIMOZHI

1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	5.00	15.00	С	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0007

Name of the Student : BOOBALAN M

Father Name: MURUGESAN **Mother Name: MALARMALA**

1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	6.00	18.00	В	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Home



Results



Kalapet, Pondicherry

Home



Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0009 Name of the Student : DEEPIKA K

Father Name: KALAIARASAN Mother Name : SELVI

1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	7.00	21.00	B+	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Home



Results



Home



Results



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0013 Name of the Student : DHINESH S

Father Name: SUNDARAM Mother Name: SIVAGAMI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	COMPUTER NETWORKS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0014

Name of the Student : EBIROSTO B

Father Name: BHAGYARAJ **Mother Name: JANCY RANI**

1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	4.00	12.00	Р	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0015

Name of the Student : EDMAN ALLFRED E

Father Name: EVIN RAJ **Mother Name: LEEMA**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	COMPUTER NETWORKS	Th.	3	000	000	F FAIL
2	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0017

Name of the Student : HARIHARAN S

Father Name : SEKAR Mother Name: ADHILAKSHMI

1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	4.00	12.00	Р
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0018

Name of the Student : HARIHARAN S

Father Name: SANKAR **Mother Name: SARIDA**

1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	5.00	15.00	С
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0019 Name of the Student : HARINI B

Father Name: BALAKRISHNAN Mother Name: REVATHY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	COMPUTER NETWORKS	Th.	3	000	000	F FAIL
2	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Home



Results



Home



Results



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0024 Name of the Student : JOVEL A

Father Name: AROKIYA RAJ **Mother Name: JEYAJOTHI MARY**

1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	6.00	18.00	В	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0025

Name of the Student : KALISWARAN S

Father Name: SATHASIVAM **Mother Name: DHANALAKSHMI**

SI. No.	Subject Name OBJECT ORIENTED PROGRAMMING USING JAVA	Th Pr Th.	Credit Hours	Grade Point 5.00	Point 15.00	Grade C
2	OPERATING SYSTEMS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0026 Name of the Student : KARTHIK S

Father Name: SENTHAMIZHVELAN **Mother Name: PAVITHRA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	000	000	F FAIL
2	OPERATING SYSTEMS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0027

Name of the Student : KAVIYARASU S

Father Name: SUBRAMANIAN **Mother Name: KARPAGAM**

SI. No.	Subject Name OBJECT ORIENTED PROGRAMMING USING JAVA	Th Pr Th.	Credit Hours	Grade Point 5.00	Credit Point	Grade C
2	OPERATING SYSTEMS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0029

Name of the Student : KEERTHIVASAN V

Father Name: VEERASAMY **Mother Name: SELVI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	000	000	F FAIL
2	APPLIED STATISTICS	Th.	3	000	000	F FAIL
3	COMPUTER NETWORKS LAB	Th.	2	6.00	12.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0030 Name of the Student : KEVIN A

Father Name: AROKIA RAJ Mother Name: LETCHOUMY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	COMPUTER NETWORKS	Th.	3	000	000	F FAIL
2	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	000	000	F FAIL
3	OPERATING SYSTEMS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Home



Results



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

D - - - - IA -

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0033

Name of the Student : MOHAMED FAJIL J

Father Name : JALEEL Mother Name : SHAKEERA BANU

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	COMPUTER NETWORKS	Th.	3	000	000	F FAIL
2	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	000	000	F FAIL
3	SOFTWARE ENGINEERING	Th.	3	4.00	12.00	Р
4	OPERATING SYSTEMS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

Results

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0036

Name of the Student: MOHAMMED FARVESE S

Father Name: SARBUDEEN Mother Name: FATHIMA NATCHIAL

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	COMPUTER NETWORKS	Th.	3	4.00	12.00	P
2	SOFTWARE ENGINEERING	Th.	3	000	000	F FAIL
3	OPERATING SYSTEMS	Th.	3	000	000	F FAIL
4	APPLIED STATISTICS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0037

Name of the Student: MOHAMMED SADHAKATHULLAH M

Father Name: MOHAMED SHAJAHAN **Mother Name: HABEEBUNISSA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	COMPUTER NETWORKS	Th.	3	5.00	15.00	С
2	APPLIED STATISTICS	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0039 Name of the Student : MONISHA V

Father Name: VAITHIYANATHAN Mother Name: MAHESWARI

1	COMPUTER NETWORKS	Th.	3	5.00	15.00	С	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0040

Name of the Student : NAVANEETHA KRISHNAN M

Father Name : MARIMUTHU Mother Name: MALATHY

1	COMPUTER NETWORKS	Th.	3	5.00	15.00	С	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0043 Name of the Student : PRADEEP C

Father Name: CHARLES **Mother Name: BREMA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	4.00	12.00	Р
2	SOFTWARE ENGINEERING	Th.	3	4.00	12.00	Р
3	OPERATING SYSTEMS	Th.	3	000	000	F FAIL

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0045 Name of the Student : SANJAY J

Father Name: JAIGANESH **Mother Name: LALITHA**

1	OPERATING SYSTEMS	Th.	3	000	000	F FAIL
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0047

Name of the Student : SANTHOSH KUMARAN S

Father Name: SUGUMAR **Mother Name: SANTHY**

1	OPERATING SYSTEMS	Th.	3	000	000	F FAIL	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0049

Name of the Student : SELVAVINAYAGAM C

Father Name : CHELLADURAI **Mother Name: MADHEENA**

1	COMPUTER NETWORKS	Th.	3	5.00	15.00	С	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0051

Name of the Student : SIVANODHAYAN S

Father Name: SIVA Mother Name: VINODHA

1	SOFTWARE ENGINEERING	Th.	3	5.00	15.00	С	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0052

Name of the Student : SRIDHARAN S

Father Name: SRINIVASAN **Mother Name: MYTHILI**

1	OPERATING SYSTEMS	Th.	3	000	000	F FAIL	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0053 Name of the Student : SRIRAM R

Father Name: RAMESH **Mother Name: MANIMEGALAI**

1	COMPUTER NETWORKS	Th.	3	4.00	12.00	Р	
SI. No	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0054 Name of the Student : SRIRAMAN S

Father Name: SRINIVASAN **Mother Name: MYTHILI**

1	COMPUTER NETWORKS	Th.	3	4.00	12.00	Р
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0055

Name of the Student : SURIYAPRAKASH R

Father Name: RAVI **Mother Name: KRISHNAVENI**

1	COMPUTER NETWORKS	Th.	3	000	000	F FAIL
SI. No	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0057

Name of the Student : VASANTHAN U

Father Name: UMASAGAPATHI Mother Name: RAJESWARI

1	COMPUTER NETWORKS	Th.	3	4.00	12.00	Р	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 18/03/2025

III Semester B.Sc. Computer Science DECEMBER 2024 Examinations

Reg. No.: 22CS0058 Name of the Student : VIJAYSIMMA J

Father Name: JAYAKUMAR **Mother Name: VIJAYA BHARATHI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	COMPUTER NETWORKS	Th.	3	000	000	F FAIL
2	OBJECT ORIENTED PROGRAMMING USING JAVA	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Home



Results